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Ratification of notes is with three — B2 nUY 2P

OVERVIEW

7M1 27 7R X217 teaches that three people are required to authenticate the signatures
of witnesses on a W, but two are not sufficient (as opposed to ,ARTIT YT ,ARMN
71, where two are sufficient). N901n discusses this ruling.

Mmoo anticipates a difficulty:
— 177 DT NTY 72 (3,0 97 )PITNIDA DY XD 1999 1IN 297 2) DY 9N

Even though 1'% himself maintains in °97710 noon that if two people passed

judgment, their ruling is valid, so why do we say here that three are required for o1p
mMAvw and two will not be acceptable even 72v°727!

mooIn responds:
— 10‘1\7:1‘,711 V9993 1INV M0V 0P

nawvw avp is different as the 0"2w explained why two are unacceptable even 72373 -
— 331257 A5YNYY TOWY TOY DD 192 W A1) 72 RIN NIY INT

For if there are only two who are o»pn the “ww, what difference is there
between the "vw:? 2 (where only two authenticate it) to the actual "vw which is

above the o1p which also has two people signed on it, for -
— 299N 29N RN 12NN 291N NIN

For here (by the o1p) two sign and here (by the 70w) also two sign -
— 9109 1Y 291 1Y) YV YOVNY NYYNTY D1Y 2917 IWNYY DTY 7aD NN

So the 01p appears similar to two witnesses who heard from the two witnesses
signed above that the 2uw is "w>, but the ruling is that one 7¥ who testifies what

he heard from another 7w, that testimony is invalid. That is the problem with a1p of

two -
—90YN 19PWIN 0T AN HY 0NV DITY YTV )T %2 DNV 999 /) ONVWI YaN

However when the "uw: "»n»pn are three, it is apparent that they are a 7''>3, in
front of whom 27y testified regarding their handwriting, and the three

approved the "vw
- 11 POaY NN

So then it is similar to a 7''©2 and not merely to an Mm7v.

'See orp "7 0"awn.
? The quwn ovp is (generally) written on the bottom under the witnesses’ signatures.
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mooIn anticipates a difficulty:
— (Y1 D ANND 9221 0wl 8,25 97) THAINIT /2 P92 132IINT NI

And that which X7°7 17 said in the name of XaX " in the second pap of ndon

M2 -
— YMNOY NI NIND NNYN AN ANIIY ¥399% 1NN TAN N VYN NN 0PV 1YY /)

Three 2°1>7 who sat down to be 2%p% a "vw and one of them died before he had
the chance to sign (so that only the signatures of two 0°1>>7 appear on the 01p), it is
necessary for them to write, ‘we three were sitting and one (of the three) is no
longer here”’ -

— 598 K9 1 NI 53 1153 305 X *)1IN3 29 9N)
And 1'"1 commented, ‘and if the words 'R137 °2' is written in the 01°p it is not
necessary anymore to write that initially there were three 0°1>7, since the term 'X17 °2'

indicates that there were three 0°1°>7. The X713 there asks -
—PTIVPTNTY /2 HNINNY 9INT sMﬂ I8N )29 N2 N9

But perhaps it was an ‘audacious’ 7'">2, for 812w maintains that two 0°17
who ruled on a case their ruling stands, however they are considered a mxn 7"2. So
here too even though the ap stated X1°7 °3, it is still possible that it was a 7117 7"2 of two,6 how

can we be certain that there were three 0°17 initially to be 0**pn the 7vw. The R 13 answers -
— SYN 29 927 12294 N2 %3 %2 AN51

That it was written in the ovp that it was performed in the 7''52 of the students

in the academy of WX 39 where presumably it was not a m¥r 7"2. The X3 continues to

ask -
— 81115 N9%20 YNNYI SUN 29 ra1 939 N1

But perhaps the 3121 of "wX 27 927 agree with Y812 (presumably) that ;717 7w "2
77 (even regarding N1MvYw 01°p2)? So how can we be sure that there were three °1°°7 initially at the
01°p process before the signing?! This concludes the citation from the X773 in mM2103.

mooIn responds: The X3 there —

? This will assure everyone that initially there was a 7"*2 of three who were 0»pn the quw, however one of them died
before he was able to sign it.
* In our texts in M2 it reads PrYe 921",
> See “Thinking it over’ # 1.
% That m1¥n1 7"2 assumed that MAvYw 0P can also be done 0°1w3; however ‘we’ require three 0°17.
" In our texts there the X073 is WX X1217 "2 (not X"1 27 1127).
¥ It seems from this question that the X3 understands that ‘we’ maintain M uw O1p requires three. However even if
the o1p states that it was performed in the *wX X1377 7"*2, nevertheless since it is possible that those 1127 agree with
SR (that 17 0°7 WY '2) so therefore they are being a*>pn with only two 2°17. The implication of this question is
that (the "9 *27 1321 and) XvWw maintain that 2vp is valid (72v>72 at least) with only two 2°1>7. This contradicts what
moon said previously that even if we maintain 17 0i1°1°7 1172 '2 nevertheless by a1p there must be '3 (even 72y°72).
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— D%V MIVY OPPT 9210 INNVYY NI
Did not mean that >X»w maintains that nww a1p can be accomplished with

only two 2°15%7 (for presumably 2Xmw rules like the 7397 which maoin stated earlier that 21p

mMAvw requires three 0°1°7) -
— Ny HNNYTI MY 01572 919 X920 SUN 29 527 13249 NNAYTI XYW 991 NON

But rather this is the explanation of that question mentioned previously, ‘but
perhaps the > 239 527 1129 maintain by nyww a»p that it is the same ruling as

bR rules elsewhere’; namely that just as 5Xmw rules elsewhere (but not by now avp)

that 17 017 17w '3, similarly the X"9 27 1127 maintain that even by m1ww orp two are sufficient -
— 72 MIVY DYPT 929V 930 81 HNINIY YAN

However ?8»w may properly maintain the nyauw 2% must be with three -
— 1903 29 195 127 )19 1TV /2 NAYYAT 2) Y 9N

Even though that generally (by other cases; not m7vw 01°p) the rule is that uTw '2

197 27917, just like 2''9 who maintains elsewhere "7 07°°7 13T '3, but requires three by ovp
maow.

nooIn asks:
— (2,85 97 NI/ N33 9ND 1599 °)0N3 297 9NN ON)

And if you will say; but 1'% himself states in %''2 n>on -
— b9y NPOY 712y RI990 29 K912 9IUINT RT2)Y 1)

Regarding the episode where X91°3 T99°X and X920 29 entered into a business

contract, etc.; from s'1"1 statements there -
— 159 153 INY »901 NN YU

It seems that two is not considered a 7''92 and their ruling is invalid -
— PRO5N 11 595 5123 SN 171990 YT RNYN 59 SNN 99T 1YY MNP

Since 1" told Mo°X, ‘bring to me the three people in whose presence you

divided the assets, or at least two of these three people, so that the two can testify
that it was divided under the auspices of a 7"°2 of three.

madIn answers:

’ mooin is willing to accept that (perhaps) the *w& 17 °27 71127 (who were [merely] students in the academy of X"7)
would maintain '22 n1Mvw arp. However maoin reasons that 2Xmw will certainly agree with the 7297 that nyqvw arp
'32 (even though he maintains [as does 1"7] that 17 2717 17w ).
10 See 0"win n1on that in our MR in n"2 the text reads X171 21 12 727, and not 1. [See ‘Thinking it over’ # 2.]
' The case there was that 110°x and 0" entered into a business partnership. At a certain point 110°% divided half the
merchandise (under the auspices of two people who assessed its value) and took half for himself (as a partner).
"2 1t is an accepted ruling that the division of assets between partners must be assessed by a 7"*2.
" This contradicts what mooin stated at the very beginning that 1"1 maintains 7 07°1°7 T '2. Here 1" required
three even 72y°72.
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— DNYA NP IO NIN WIT92 177 5173 INVY NDT 29991 ONNT 990 U
And one can say; that there it is a case where 70°X did not explicitly appoint
the two people as a 7''>3, but rather he simply made the division in their

presence, without telling them what their designation is -
— 121953 D1Y IMVYDT NN AT 299 9P IN 795N

Therefore if he divided the merchandise in the presence of two, it appears that

his intention was that they (merely) become witness to this division -
— 191913 197 1152 MYYYT AN 19D NN 3P IN)Y

However if he divided in the presence of three, it is apparent that his intention

was to make them into a 7''93; this distinction (between two and three) applies where he
was not specific -
2[1an3 27 HPNNN N1 3,35 PO MaTIn Ny ] N0 DIV WIH91 )7 1Y INYYY DIPNA YaN

However, where he specifically designated them as a 7''53, (even) two are
sufficient, since 1"1 maintains P7 07°°7 2T 2.

SUMMARY
Even those who maintain "7 07°1°7 1172 '3, nevertheless all agree that mavw arp
requires three.

THINKING IT OVER

1. mooIn found it necessary to explain that when the X773 stated 27 °27 7327 819N
1177 R7°20 PRIMWD SWR, it did not mean that XY maintains 22 MIvw o1°p. Why did
not Moo clarify in the same manner that which the X713 said previously'> xnoT
T P17 NTW 2 9RMW MRT XTI 7 003; that it does not mean that SRMW
maintains 22 n1ow orp?!'e

2. The last question'’ of MooIN seems to be a contradiction between 1" in »"3 and
1"7 1n 777710; why i1s 119010 asking this question here?!

' Therefore 1" insisted that he bring the (two out of the) three to testify since they were not designated.
1% See footnote # 5.
' See n"ma.
"7 See footnote # 10.
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